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And if paying money is a leniency - RI7 X?IP R3172% 9N

Overview

The X773 states that one cannot derive from 9211 that X15v2 the rule is 717 1K1 22Wwn,
regardless whether we consider mp?n to be the stricter punishment, or whether
money is the stricter punishment, because 2217 has both a X217 and a X777 in relation
to the cases Xn7va. In any event it seems that even though %n is more lenient
nevertheless by 2211 (where there is a w7 211 and MpYn) we make him pay (and not
receive Mpon), even though it is the lesser punishment. Moo explains this.

n1voIN asks:
- ‘nbpa NIV MMNNX YMNON 99NN ON)

And if you will say; does the 211 indeed profit that he receives the lighter
punishment?!
- 2751 SHY 29NNV 1 533 (xx0 97 prTme) POIYIN P93 599 S9N

For this is what the X 13 asks in 1727w %2 P95, regarding one who is liable for
two capital punishments —

N1DO0IN answer:
19313 YW NIMNN NINNT ONT NI SINYT 1199 U

And one can say that here by %211 it is different from the case in 177710, for the

770 had pity on the loss of money of the victim, therefore the 92111 pays. However by
mn°n °nw there is no compensation to anyone.

Summary
We may forgo the more stringent punishment, in order to compensate for the loss.

Thinking it over

" The rule by 2211 is that he pays and does not receive np%n. The X3 explains why we cannot derive from 921 that
elsewhere also he is 7?17 1KY 02wy, even if we assume that 0w is the lesser punishment than 71%. The question of
mooin is that if o%wn is the lesser punishment, why indeed is he o%wn, when he should receive the stricter
punishment and be p15.
% The mawn there states that one who was mn™ *nwa 2»nny, receives the stricter one (like Pam 79°po, he will receive
m2°po, which is stricter). The X3 there asks that this ruling is obvious 110X »1n°R?! How can we give him the
more lenient punishment if he is liable for the stricter one. The fact that he transgressed another sin does not exempt
him from receiving the stricter punishment.
? Indeed mMpon may be stricter; however if we give the Mpo» Y21 and exempt him from paying the injured party for his
loss, the 22m1 will not be compensated; he gets no reward from the mp?» which the 5211 receives. Therefore in order to
compensate the 723, the 7710 ruled that the 2211 must pay even though it may be the more lenient punishment.
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The X3 was not sure whether X712 X111 or X777 X1, and according to either
assumption the question was whether 2%wn or 1pY2.* However if Xm0 X17n why
is there even a question; why should he receive the more lenient Mmp5n» instead of
the stricter 771, especially so since the X171 9 on 77 of the pri?!’

* The X1 initially assumed x17% X3mn. Only later does it state X2 Ximan X).
5 See N¥Py v and 2Py N0,
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